
1

数列 {an}は
n∑

k=1

ak = n2 + 5n+ 6
3n

(n = 1, 2, 3, · · ·)

を満たすとする．以下の問いに答えよ．

(1) a1 を求めよ．

(2) n ≧ 2のとき，an を求めよ．

(3) n ≧ 2のとき，
n∑

k=1

1
3kak

を求めよ．
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【答】

(1) a1 = 4

(2) an = − 2n2 + 4n
3n

(n ≧ 2)

(3)
n∑

k=1

1
3kak

= −n2 + n+ 4
8(n+ 1)(n+ 2)

【解答】
n∑

k=1

ak = n2 + 5n+ 6
3n

(1) n = 1のとき

a1 = 12 + 5 · 1 + 6
31

= 4 ……（答）

である．
(2) n ≧ 2のとき

an =
n∑

k=1

ak −
n−1∑
k=1

ak

= n2 + 5n+ 6
3n

− (n− 1)2 + 5(n− 1) + 6

3n−1

=
n2 + 5n+ 6− 3(n2 + 3n+ 2)

3n

= − 2n2 + 4n
3n ……（答）

である．
(3) n ≧ 2のとき

n∑
k=1

1
3kak

= 1
3a1

+
n∑

k=2

1
3kak

= 1
3 · 4 −

n∑
k=2

1
2k2 + 4k

= 1
12

− 1
2

n∑
k=2

1
2

(
1
k

− 1
k + 2

)
= 1

12
− 1

4

(
1
2

+ 1
3

− 1
n+ 1

− 1
n+ 2

)
= 1

12
− 1

4

{
5
6

− 2n+ 3
(n+ 1)(n+ 2)

}
= − 1

8
+ 2n+ 3

4(n+ 1)(n+ 2)

=
−n2 + n + 4

8(n + 1)(n + 2)
……（答）

である．

• (3)は n = 1のときも成り立つ．


